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Math 1A Spring 20256 Quiz 7

Name:

i
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I Use linent approximation to estimate cos 29°.

2 Find the absolute maximum and absolute minimum values of f(t) = v/¢/(1+t?) on the interval [0, 2).
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3. Let G(z) = 5a2/3 — 228/3,
(a) Find the intervals of increase or decrease.
(b) Find the local maximum or minimum values.
(c¢) Find the intervals of concavity and inflection points. \ C /y ' 19 X '\»"‘ 3 29 g - Vs
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4. Use 'Hospital’s Rule to solve the following limit: lim, o z°

< exp fim € Latr) ) e Lim 29) L idpine

LY
K=" 04

,F’x?(kh ox ): e)(/)(,,) e




{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

